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i Ta=25 TO-92
Tog—— -55~150 9
Tj—— 150 ,Efff;
Pc—— 625mWwW
Veso — 400V ;: :
Vceo— — -400V 3— C
Vego—— — -6V
lc—— -300mA
B T.=25
BVeso — -400 Vv lc=-100p A 10
BVces — -400 v Ic=-100p A Vee=0
BVeso — -6 v le=-10u A 1c=0
Iceo _ -100 nA Ves=-300V, 1e=0
Leso — -100 nA Ves=-4V, 1=0
less _ -1 A | Vee=-400V Vee=0
hee 40 Vee=-10V, lc=-1mA
60 300 Vee=-10V, 1c=-10mA
45 Vee=-10V, 1c=-50mA
40 Vee=-10V, 1c=-100mA
Vee sat 1 _ -0.5 Vv lc=-10mA, ls=-1mA
Vee sat 2 -0.75 % Ic=-50mA, ls=-5mA
Vee(sat — -0.75 v Ic=-10mA le=-1mA
Cob 7 pF Vee=-20V, 1:=0 f=1MHz




